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What do you have to study for this unit test?

1. Class notes and class work we did from March 23 until today. (Check
reypark.weebly.com, if you lost any notes....)

2. All the homework questions we did from March 23 until today.
3. Today’s classwork and HW

Note: Leave radical numbers as their original forms, meaning do not change them to decimal
numbers until the therefore statement.

Q1) Last year, a banquet hall charged $40 per person, and 80 people attended the
banquet dinner. This year, the manager said that for every 10 extra people that attended the
banquet, they will decrease the price by $1.50 per person. What size group would maximize the
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Q2) A bridge has a parabolic support modelled by the equation y= - 2_“, L+ ‘26;1 -5
Were the x axis represents the bridge surface. There are also parallel support beams belovy_‘ghgw.) T
bridge. Each support beam must have a siope of either 0.8 or -0.8. Using a slope ofi- \O~§/ﬁnd S| : AR
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More Practice Questions

Page 72: Q11 to Q22 o Th \{ (A‘\'e((ﬁ\?‘ti&u’\é\ Z\_C\‘O 8
VA
‘5%%{‘ -—'t(?\'/\'\)@ at f&‘im



